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I. Answer all the questions. . ! Bx1=5

1)*Who Introduced the term: Blocllvoléjt? ,
a) Edward Wilson b) Walter Rosen, ' c) Norman Myers d) Allce Norman
2) Assertiom:  The environmental (,o,ﬁdl lons of the tropls are favourable for
! speclation and dlve.qt“"of organismes,
Reason: The climate seasons,! ~teh4pcuatune, humidity anc photopcrlod
are more or less stal ell Land congenlal :
a) Both Assertion and Reason are Ly and Reason explalnf Assertlon correctly
b) Both Assertlon and Reason are uuo“"%é 1d Rea on Is not the correct
explanatlon or Assentlon : Ei il

ci in the two' chainsyjof Insuiin?
13 amino acids | {1

W iTeT

: b) ChalnA has 21 and Chain B h"s‘ 30. amino ‘acids
‘ 30 amino acids ,"?‘:_“‘;'{f
, ""20 amino acids il
4) The relationship. between ‘sucker fis ‘and sharlc s U

'~ a) competition " * ' b) commensalisy c) predallom ) Parasitlsm
5) Which one of the animal Is ex‘"';ple for hlbernatlon.,

3) How ma‘n.y amino aclds are arrang

a) fishes - b) snalls c) Bear «.“\(“:'} ' d) Dogs
' i 1 - XX
II. Answer any three of the following"v, i ) f il 3x2=6
6) What Is Humulinz " 0 il '
7) What are transgenic animals? G e examples?
r y

8) Define Mortallty?
9) Write a note on WWF.
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III. Answer any three of the follbwing and Queslion No.i4 is compulsory. 3%3=9

11) Differentiate between s somatich,ce”,,n_gene therapy and germ line gene therapy.
’- ‘j"\,know about It?

iy 14) Describe populatlon Age distnbutlbﬁ

15) Wnte the types of aqUatlc blon}‘es of earth,

Sectlo"h -1V NfE -

IV. Answer the followmg quéstlon‘ %@ ? b 1x5=5
16) a) List the adaptations seen lnﬁ restnal animals, ' (OR) "

b) Explain the steps whlch are'“iﬁgo|ved in PCR,
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